M

z D01849837212023000010 £YYa: 20234 06 20¥
A NZE
g = =i ks =4 e = 1) = A= =4 e
5912401 CIpPSET= 19,800,000 19,800,000 O|ApRH| & F 22| 7| 22 GH| 400,000 400,000 Y
= HAzo|gz 57,486,246 57,486,246 0 AHRH| PR F2H| 3| ofH| 700,000 700,000 Y
2 HAZO|ES(
oz o 59,386,150 59,386,150 0 AMRH] =gH| CL 500,000 500,000 Y
o
7|EI0{| 20| A AQH| Ol AA
2t 20 ZIEro= 013 29,604 29,604 0 AHZH] 29| z | L% 63703404 63793404 0
T d
Zaol 7|EpEAQ 34,398,000 34,398,000 0 AMEH| S| zzez 2,150,150 2,150,150 0
0 0 0 AL H| 23| HMS2Z 10,040,000 10,040,000 Y
0 0 0 AbZH| S| 7|EFREH| 1,100,000 1,100,000 0
Y 0 0 Z{Ltz-gH]  Al4H| Al AdH| 3,000,000 3,000,000 0
MESERZAl
0 0 0 U&EZ Ha3 MHZIAM 1,620,000 2,420,000 800,000
HES
MESERZAl
0 0 0MEZ HeE= HdUEZ 4,850,000 4,850,000 0
=)
= = MESES2Y
0 0 0z7&2 HE2 AN M HED 0 10,000,000 10,000,000
MESES2Y
0 0 0ME= HeE= FALEHES( 350,000 350,000 0
2=
0 0 0 A& A& Ve 82,596,446 71,796,446 10,800,000
Mg &HA 171,100,000, 171,100,000 0 NE 2 171,100,000 171,100,000 Y

(Tl - &)

L7020 MEAZAHRL MSSAMTE SHLA : 2023 068 202 17A] 13F 492

1/1




